Q

v

o
ne
£
i)
lleS
ofn
8o
N,
&2
Mo
=
o
!
=l
i
k)
o

H7]
@ (aZ=a © (-2a)> =2a
©® -Via® = —4a ® +/(-5a)? = 5a

® @+1)32=a+1 ® (1-2a)*=1-2a

=
=

>
> 3E. ©




® V2-1

(V1I0-3v5)V5  v50-15
V55 5
5v2-15

V2-3




3. 9a*-16p* = -12 0|1 3a—4b =4 & W}, 3a + 4b ] FE FotH?

@ 2 @ 3 ®@-2 @-3 0©-

(3a + 4b)(3a — 4b) = —12
So3a+4b = -3




AlEZe ol +v3, - V3

2 7fe|B& x = F4olL, + V3 & AlFT gk x =3 oJth




the 3 VI3 3x 7H 7P AL A4 HES She x o] g Pl
ofet.

> E

> dE g

B

V23 + 3x 7} A7t 7] fIsiA = 23 + 3x 7t A7t = o
of qttt.
23+ 3x =25

2

SoX ==

3




A

iy
Fons
<
Gl
my
iy
o|
o =8
) ]
2o
£ A
u__u =
a9
+ o
™ oF
o ER
e @

® A% 6 717t ek,
@) Aa4x 3 A7+ e,

3< VIO <494 -4<-+vV10< -3 0]B2 HIL _3 xxx ~ 3

Wl

= 74 Qe

@ AgeE 37 AT - 1, 2.




36

ul
RO

36

X V3=4x3x%x3=

J
2

4 12Xg 3=8V3x




Re% V58 a e S, V5 9 B4 HEL b, 45 R

, 3a — 2b + ¢ & F5}oiz2t.

> =
> ®et: 44V5-6

o

K

nst

B

b=2 c=V5-2

3a-2b+c=3xV5-2x2+ V5-2
=3vV5-4+V5-2
=4v5-6




9. (2x+a)? =42 +bx+9 € W, ab O] T27 (T

@® 12 @ 24 ® 30 (@)36

B

(2x + a)? = 4x® + dax + a®
4x° + dax +a® = 4x> + bx + 9
S da=b, a®>=9

. ab = 4a®> = 36




10. 3x2+47x—6=(x+3)3x+[ ) olA[ |orel gt

rlo
sl
rlo

-~

3x2+7x-6=(x+3)(3x-2)




11, ohd 2% + 5x + 2 9 2° - 1 & 123 e o Hes

==}

obdl 227

D x+2 @ 2x+1 ® x-1

@ x+1 @x—Q

2x% +5x4+2=(2x+1)(x +2)
W-1=(x+1)(x-1)




12.

e 280 BE AA2Y
o golo] g3t yolt g ;
2 44Age) sk dol N
oF A=l Fdolo] g2?

L= L=
- |
H-.HH
=
3
=

® 2x @ 2x+1 ® 2x+2

@ 2x+3 @2x—|—6

ol §2 x>+ 6x+5=(x+5)(x+1) ?]E=E
WO Zol7} Z4ZF x + 5, x + 1 Q1 AAZ o).

what e} Al o] §L 2x + 6 ok,




13. o2 5 a®x—x 9 A5 AL?

D a @ x-a ® x+a @ x+1 @a—i—l

x(@-1)=x(a+1)(a-1)




14. V33-5v2)-52V6- V3) =aV3+bV6 & W, a+b 2 727
(H, a, b= FE5oltt)

@7 o7 ®1u @21  ©2s

3V3-5v6-10V6+5vV3=8vV3-15V6
na+b=8-15=-7




15. 0<x<5, 0< Vx <28 BAf WEoh= A5 x o] S Fskoiet
» £
(S = |

0<x<5H0|B=2 x=0,1,2 3,4, 5
0< Vx<20B& x=0, 1,2 3
whbA FAlo THEStE A4 x =0, 1, 2, 30|22 470




16. (x—-4)(x-2)(x+1)(x+3)-25 =Ax* + Bx* + Cx*> + Dx + EY
™, A+ B+ C+D+ E?2| gk& FoHH?

@ -2 (@)—1 ® 0 @ 1 ® 2

S5 ~
(x-4)(x-2)(x+1)(x+3)-25
={(x—4)(x+)H(x-2)(x+ 1)} -25
=2 -x-12)(x*-x-2)-25
x?—x =12 A &sto] F2stA (1-12)(r-2)-25 = 2 - 14¢-1
X2 —x=1t= YU H x* — 243 + x2 — 14x2 + 1dx—1 = x* -
2x3 —13x% + 14x -1
2t A+B+C+D+E=1-2-13+14-1= —10°]|t}.




17. T %5 a bolHdlda+b=4,a>+b2=12< 0, g—l—ggﬁ%
Ssteler,
> &

> Het: 6

B ‘
(a+b)? —2ab = a® + b?
16 — 2ab = 12
ab =2
a b _a+b 12

b a ab 7:6




